	

	The Theory of Comparative Advantage 

It seems obvious that if one country is better at producing one good and another country is better at producing a different good (assuming both countries demand both goods) they should trade. But what happens if one country is better at producing both goods? Should the two countries still trade? This question brings into play the theory of comparative advantage and opportunity costs. 
The everyday choices that we make are, without exception, made at the expense of pursuing one or several other choices. When you decide what to wear, what to eat for dinner, or what to do on Saturday night, you are making a choice that essentially denies you the opportunity to explore any other options. 
The same holds true for individuals or companies producing goods and services. In economic terms, the amount of good or service that is sacrificed or given up in order to produce another good or service is known as opportunity cost. For example, suppose Switzerland can either produce one pound of cheese or two pounds of chocolate in an hour. If it chooses to produce a pound of cheese in a given hour, it forgoes the opportunity to produce two pounds of chocolate. The two pounds of chocolate, therefore, are the opportunity cost of producing the pound of cheese. 
A country is said to have a comparative advantage in whichever good has the lowest opportunity cost. That is, it has a comparative advantage in whichever good it sacrifices the least to produce. In the example above, Switzerland has a comparative advantage in the production of chocolate. By spending one hour producing two pounds of chocolate, it gives up producing one pound of cheese, whereas, if it spends that hour producing cheese, it gives up two pounds of chocolate. 
Thus, the good in which comparative advantage is held is the good that the country produces most efficiently (chocolate). Therefore, if given a choice between producing two goods (or services), a country will make the most efficient use of its resources by producing the good with the lowest opportunity cost, the good in which it holds the comparative advantage, and by trading for the other good. 
To make this theory easier to understand, consider a world in which only two countries exist, Italy and China, and only two goods exist, shirts and bicycles. The Chinese are very efficient in producing both goods. They can produce a shirt in one hour and a bicycle in two hours. The Italians, on the other hand, are not very productive at manufacturing either good. It takes them three hours to produce one shirt and five hours to produce one bicycle. 
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SHIRTS
BICYCLES
Number of Hours to Produce One Unit
1
2
Opportunity Cost (of producing one unit)
½ bicycle
2 shirts
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SHIRTS
BICYCLES
Number of Hours to Produce One Unit
3
5
Opportunity Cost (of producing one unit)
3/5 bicycle
5/3 shirts
The Chinese have a comparative advantage in shirt manufacturing, as they have the lowest opportunity cost (1/2 bicycle) in that good. Likewise, the Italians have a comparative advantage in bicycle manufacturing as they have the lowest opportunity cost (5/3 shirts) in that good. It follows, then, that the Chinese should specialize in the production of shirts and the Italians should specialize in the production of bicycles, as these are the goods that both are most efficient at producing. The two countries should then trade their surplus products for goods that they cannot produce as efficiently. 
Comparative advantage not only affects the production decisions of trading nations, but it also affects the prices of the goods involved. After trade, the world market price (the price an international consumer must pay to purchase a good) of both goods will fall between the opportunity costs of both countries. For example, the world price of a bicycle will be between 5/3 shirt and 2 shirts, thereby decreasing the price the Italians pay for a shirt while allowing the Italians to profit. The Chinese will pay less for a bicycle and the Italians less for a shirt than they would pay if the two countries were manufacturing both goods for themselves.


Comparative Advantage Versus Absolute Advantage 
As you can see from the example above, a country can be said to have a comparative advantage in producing a good even if it is absolutely less efficient at producing that good. To understand this more clearly, think of an example of a doctor in private practice: 
A young doctor opens her own practice, working by herself, and within a few months has developed a substantial clientele. At first, she was performing all her clerical work—filing, tying and answering the phone—by herself. But with an ever-busier schedule, she realizes that she could spend more time seeing patients, and therefore see a greater number of patients, if she hired an assistant. 
As it turns out, the young professional is not only a brilliant doctor, but is also lightning-fast at typing and filing. She is, in fact, better at doing both jobs than the clerical assistant she hires. In other words, she has an absolute advantage at both tasks: medical diagnosis and clerical work. 
Does it therefore make sense for the doctor and her assistant to share both tasks, each spending part of the day diagnosing patients and doing clerical work? The answer is clearly no. By having the assistant perform all the clerical work, the doctor is able to maximize her specialization and see more patients. The patients are undoubtedly better off too. 
In other words, even though the assistant is worse at performing both tasks, an economist would say that he nonetheless has a comparative advantage at clerical work. As you can see, by working together – trading their services – the doctor and the assistant are able to maximize their skills, making both better off. 
As these examples show, trade allows countries to specialize in the production of what they do best and make the most efficient use of their resources, thereby decreasing the price of both goods. No matter how inefficiently a country produces every kind of good, it can always be said to have a comparative advantage in at least one of those goods. 
That's the theory of comparative and absolute advantage. It helps explain what actually happens in the real world of international trade, and it offers broad guidance to countries as they decide which goods and services to produce and subsequently export, and which, in turn, to import. 
Trade in Theory and Practice 
In reality, of course, trade specialization does not work precisely the way the theory of comparative advantage might suggest, for a number of reasons: 
· No country specializes exclusively in the production and export of just a single product or service. 
· All countries produce at least some goods and services that other countries can produce more efficiently. 
· A lower income country might, in theory, be able to produce a particular product more efficiently than the United States can, but that country might not be able to identify potential American buyers or transport the item cheaply to the United States. As a result, U.S. firms may continue to manufacture the product. 
Generally, countries with a relative abundance of low-skilled labor will tend to specialize in the production and export of items for which low-skilled labor is the predominant cost component. And countries with a relative abundance of capital will tend to specialize in the production, and export, of items for which capital is the predominant component of cost. 
Some of the assumptions underpinning the theory of comparative advantage are of significant concern to many Americans. They contend that imports inevitably replace domestically produced goods and services, thereby threatening the jobs of those involved in their production. 
Imports can, in fact, undermine the employment of domestic workers, a subject to which we will return later. But, from what you have just read, you can see that imports generally supply products that are either unavailable in the domestic economy or that domestic enterprises and workers would be better off not making so that they can specialize in more sophisticated and lucrative forms of production, and benefit from lower prices. 
Finally, international trade brings several other benefits to the average consumer. Competition from imports can enhance the efficiency and quality of domestically produced goods and services. In addition, competition from imports has historically tended to restrain increases in domestic prices. 

ANSWER ON YOUR OWN PAPER!

1. Define the term “opportunity cost.”

2. If you had $35 to entertain yourself, and you could either go to an amusement park or purchase a video game, which would you do? What is the opportunity cost of selecting the amusement park? What is the opportunity cost of selecting the video game? Give your answer in the context of the goal of entertaining yourself.
3. In the example given about chocolate and cheese, what are some reasons Switzerland might choose to make either product?

4. Define the term “comparative advantage.”

5. In the example given, why is the production of chocolate considered more efficient than the production of cheese?
6. Why would a country or individual want to use their resources more efficiently?
7. Why is the opportunity cost in the example of China described as “1/2 bicycle” and “2 shirts?”
8. Why would the Chinese and Italians want to trade their surpluses to each other?
9. “Why is the doctor said to have an absolute advantage over the clerical assistant in the example?”
10. “If the doctor has an absolute advantage over the clerical assistant, why does she need to hire the assistant at all?”
11. What are some factors that affect how the theory of comparative advantage works in the real world?
12. List some products that the United States exports or imports that demonstrate the theory of comparative advantage

